Math 271 - Fall 2012 - Quiz #7 Score:

(e D

Name:

out of 10.

| Show all work clearly and in order. Please box your answers.

1. Solve the following differential equations:
(a) z2y" —6zy’ + 12y =0

am? &+ (b-a)m + C = O

4wt ¥ (-6-Dm +12= 0

w2 —Fm 412 =

(m-4)y(m-3)= 0O

m:q\ me3
3¢, X

Y = c, x3

General Solution:

(b) z2y"” —3zy' +4y =0

Am*y (-3-\)m 44 =0
m? —Yym 44=0
QM—Z)(\M -2)=0

m:z\ ms=2

General Solution:

Y =c x2 4 Ca X2 (x)

(c) 4z2y” +5y =0

Ym? 4+ (0-)wm +§ =0
4ywm? —Yymai § =0

wm = ‘1t4} 16 =4 (s)(Y) - ‘1t4} - 6M -oM2 -3 Y : o wely o -
2(4) < 3 2 P
=c x‘ha»s (W) 3+ ¢ ‘Izsw(\ )
General Solution: ¢ ) g P Sa X
. '
2. Solve the following differential equation (please simplify you final answer):
z?y" — 3zy + 4y =23
Slgd : Famd Ye for ;(2\/" -3»:\/' t4y =0 so now fmd W, md W,
? )]
- (- ) _ (=W OGN X
m? ~dm+ Y =0 \a(x) 4%
L\M )_‘(VV\ -‘L\ =0 u=\n()<\ A:‘l:;
mee |2 : dus Ldx V=
‘}c" C, x + (¥ (%) @MC as (b) “\°°V-‘v) _ —[x\n(ﬂ -—gii)‘ ___l
g 3 N = - (xlbo -x 7]
S’Kg L Fmd Yo %MS v iahan #4 PWM*""S E " = x = xWn(x)
= (x) 0 xrx _ Ax = X
. S3ys By X gl‘.———Ax—g,__o\x—‘*
Shomdwd Form * 3 ‘J Y -?( o W 2 g

(x + ?,;dn(n\) (ZAé‘zln(xn

= 3 +2x3W0) -2 x2(x)

W = . ) %2 x¥wn(x) ‘
)5 44 -\zx 3+ 2k

S0 o= WY YUY
= (>< Xm0 F) + (x\(x’\n(x\\
= %3 —x3(0) + x*nlx)

= o C
Simplified General Solution: g=Gx+ G

x*ln(x) + x3

= x3
Hnre \3: \éLJf\}P
«—J




